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No more than 30 words are allowed in each of your brief explanation.
{1)  What is the most probable database model of the airline reservation
transaction processing sysiem that must handle mil]__ic;—ns of structured

routine requesis each day for reservation information? Please briefly
explain. ' N

 (2)  What are the database management system (DBM=) functions that enable
(&) concurrent access, (B) good performance? Please briefly explain,

(3) Please write down the SQL statement for the following guery: List the
loans that would remain outstanding on the Jan. 1, 2000. The list should
include fields {or expressions) such as NAME (borrower’s name),
AMOUNT {size of the loan), START DATE (the issue date of the loan),
MONTHS {the number of months after the issue date for the loan to be paid
back). Assume all the relevant fields are available in a single table named
LOANS.

(4) What is the topology of the Internet? Please briefly explain.
{5} ‘Please give an account of the major difference among the 'Infemet, Intranets,
and Extranets? What is the_ma_jb; feature they have in common?
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